Soluzioni  [ A ]
1. ( 9 crediti )

[image: image1.wmf]6

x

  

 

2

x

 

-

 

3

2

+




1. ( 12 crediti )      α < 1

2.

[image: image2.wmf] 

 x

c

  

 

 x

4

 

 

1

x

 

log

 

 x

2

2

+

+


3.

[image: image3.wmf] 

L

  

 

L

  

,

  

R

  

 

L

  

 

 x

-

x 

)

 x

(

 

f

 

-

 

)

 x 

(

 

f

 

lim

-

0

0

x

x

0

¹

Î

=

+

±

®

±


4.
0 < k ≤ ¼

5.
- 2 < α < 2

6.
1C   2B   3A   4D
Soluzioni  [ B ]

1. ( 9 crediti )

[image: image4.wmf]12

x

 

-

 

6

x

  

 

2

x

 

-

 

4

3

2

+




1. ( 12 crediti )      α > 2

2.

[image: image5.wmf] 

 x

c

  

 

 x

2

 

 

1

x

 

log

 

 x

2

2

+

+


3.

[image: image6.wmf])

 x

-

 x 

(

 

)

  

 x

(

 

'

 

f

 

 

)

 

 x

(

 

f

 

 

)

 x 

(

 

f

  

  

 x

 x 

,

 

R

 

 

 x

,

 x 

0

0

0

0

0

+

>

Þ

¹

Î

"


4.
0 < k ≤ ¼

5.
- 3 < α < 2

6.
1A   2D   3C   4B

Soluzioni  [ C ]

1. ( 9 crediti )

[image: image7.wmf]6

x

  

 

2

x

 

-

 

3

2

-




1. ( 12 crediti )      α < 3

2.

[image: image8.wmf] 

 x

c

  

 

 x

4

 

 

1

x

 

log

 

 x

4

 

2

2

+

+


3.

[image: image9.wmf] 

a

  vicevers

o

  

  

 

 x

-

x 

)

 x

(

 

f

 

-

 

)

 x 

(

 

f

 

lim

0

0

x

x

0

¥

±

=

±

®


4.
0 < k ≤ 1/2

5.
- 1 < α < 2

6.
1D   2B   3A   4C

Soluzioni  [ D ]

1. ( 9 crediti )

[image: image10.wmf]12

x

 

-

 

6

x

  

 

2

x

 

-

 

4

3

2

-




1. ( 12 crediti )      α > 3

2.

[image: image11.wmf] 

 x

c

  

 

 x

2

 

 

1

x

 

log

 

 x

2

 

2

2

+

+


3.

[image: image12.wmf])

 x

-

 x 

(

 

)

  

 x

(

 

'

 

f

 

 

)

 

 x

(

 

f

 

 

)

 x 

(

 

f

  

  

 x

 x 

,

 

R

 

 

 x

,

 x 

0

0

0

0

0

+

<

Þ

¹

Î

"


4.
0 < k ≤ 1
5.
0 < α < 2

6.
1A   2C   3D   4B

Soluzioni  [ E ]

1. ( 9 crediti )

[image: image13.wmf]6

x

  

 

2

x

 

-

 

3

2

+




1. ( 12 crediti )      α < 1

2.

[image: image14.wmf] 

 x

c

  

 

 x

2

 

 

1

x

 

log

 

 x

2

2

+

+


3.

[image: image15.wmf] 

a

  vicevers

o

  

  

 

 x

-

x 

)

 x

(

 

f

 

-

 

)

 x 

(

 

f

 

lim

0

0

x

x

0

¥

±

=

±

®


4.
0 < k ≤ 1/2

5.
- 3 < α < 2

6.
1C   2B   3A   4D

_1642240320.unknown

_1642240705.unknown

_1642668341.unknown

_1642668482.unknown

_1642240744.unknown

_1642240767.unknown

_1642240469.unknown

_1642240549.unknown

_1642237335.unknown

_1642237472.unknown

_1642240197.unknown

_1642237212.unknown

